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https://1drv.mg/f/slAvl 7WZKf6QBj gTGwhbcWvL Dn5gQS QUESTION 123Refer to the Exhibit. Which two statements are true?
(Choose two.) s W

~

A. You can enable Multicast Optimized to as many classes as you want as long as enough unutilized multicast queues are
available.B. Four different MTUs are alowed: 1500.2158, 2240, and 9000.C. If you save the policy, it gives you an error
because you can have the Fibre Channel class and one more as no drop policy. To fix it, check all the check boxes under packet
Drop except one.D. Three different MTUs are 1500, 2158, and 9000E. If you save the policy, it gives you an error because you
can have only one class with the no drop policy.To fix it, check all the check boxes under Packet Drop because the class Fibre
Channel is aready ano-drop class Answer: DE QUESTION 124Refer to the Exhibit. Which statement is true? B Smee a1 a3 g o e Scuedond
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A. Theservice profilein organization | S-SecureESX 10 istrying to be associated to chassis 1 blade 7.B. The error istriggered
when the service profile pn is being associated.C.  The only way to fix the problem isto delete the service profile and start again
with the proper MAC and WWPN pool association.D. If you ignore the warning and press Y es, the association fails because no
MAC addressis assigned. Answer: D QUESTION 125Which option is the benefit of Cisco ACE solution? A.  minimum scalability
for application deliveryB. infrastructure smplificationC. centralized management for all application teamsD. completely
isolated from network thus providing easy management Answer: B QUESTION 126Drag and Drop QuestionAn admin is updating
an existing Cisco UCS environment to accommodate a new storage array that will be directly attached to the Cisco UCS.Unmanaged
servers external to the Cisco UCS fabric interconnects will also access the new array existing Cisco UCS service profiles will be
used to access the new storage array. Drag and drop the appropriate steps from left into the correct order on the right to migrate the
Cisco UCS to support the new storage array. ===~ L = |
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QUESTION 127Refer to me exhibit. Which two statements are true? (Choose two.) &F
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A. VLAN segregation UCSusing VLAN Manager.B. VLAN segregation should be configured in Cisco UCS using PVLANS.
C. when | hear segregation | think PYLANSD. The Fabric Feature cannot be used in this topology under any circumstances.E.
Service profiles should contain asingle vNIC per fabric, trunking VLAN 100-250.F. Not sure about a single vNIC but the other
option says two NICS and service profiles use VNICS.Also you can configure multiple vians per VNIC and enable fabric failover for
the redundancy.G. service profiles should contain two NICs per fabric, with one trunking VLAN 100-150 and another trunking
VLAN 200-250.H. VLAN segregation should be configured in Cisco UCS using pin groups. Answer: BD QUESTION 128Drag
and Drop QuestionDrag and drop the correct port security configuration on the | eft to the correct action on the right. —
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QUESTION 129Which two Cisco Nexus 2000 Series Fabric Extenders support FCOE? (Choosetwo.) A.  2248TPB. 2232ET-P
C. 2224TPD. 2232PPE. 2232TM-E Answer: DE QUESTION 130Refer to the exhibit. Corporate ABC wants to implement
control by allowing authorized virtual machine MAC addresses to send traffic to the Internet. The administrator wants to add this
MAC ACL on Nexus7k-1 to achieve the task:[ Configuration Output]Nexus7k-1:mac access-list mac-adpermit 0050.561f.73d3
0000.00ff.ffff any!interface el/1mac access-group mac-adHowever, this action does not work. Which two statements describe the
issue? (Choose two.)
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A. The MAC address and mask do not match.B. The MAC ACL cannot be applied to egresstraffic.C. Thiscommand is
wrong to apply thisACL under interface.D.  The sequence number is missing from the ACL.E. The MAC ACL is not supported
on Cisco nexus 7000 Series. Answer: BC QUESTION 131Refer to the exhibit. Company ABC hasimplemented a Cisco TrustSec
domain with an initial Cisco ACS server and Cisco Nexus 7000 CTS-DC.The company plans to extend the domain by adding an
additional Cisco Nexus 7000 CTS-CORE Which three minimum configurations are required on CTS-CORE to join the domain?
(Choose three) ol

CTSTK-CORE passwoed trustsec123
hast 10.1.100.3 ke ciscolld pac
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otlx default group cts-radius-grp
a default group cts-radius-grp
233 accounting dotlx default gropu cis-radisu-grp

A. Configure TrustSec domain.B. Configureinterface "ctsdotlx".C. Configure local device ID and password.D. Configure
asa"non-seed" device.E. Configure feature dotlx and cts.F. Configure RADIUS authentication, authorization, and accounting.
Answer: BCE QUESTION 132Refer to the exhibit. Which statement isnot true? A. Chassis 1in blade 2 hasamajor fault.B.
Those service profiles have a user acknowledge maintenance policy configured.C. If you check Acknowledge All and click Apply,
the bladesreload.D.  Any user can acknowledge the reload Answer: D QUESTION 133Which option is the advantage of Cisco
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ACE SSL Offload? A.  Export cipher suiteB. Decentralized certificate managementC. SSL encryption onlyD. Front-end SSL
Answer: D QUESTION 134Which two options are advantages of deploying Ethernet-based FCoE switches such as the Cisco Nexus
7000 Series Switches beyond the access layer? (Choose two) A.  lower overall throughput compared to native Fibre Channel
switchesB. flexibility to support file (NAS) and block (iSCSI and FCoE) storage trafficC.  High-performance Ethernet-based
FCoE switches cannot be used in a dedicated SAN core.D. requirement for traffic isolation with dedicated links and storage VDCs
isno longer required.E.  plansthat include 40 and 100 Gigabit Ethernet speeds Answer: BE ''RECOMMEND!!! 1.]2016/12 New
400-151 Exam Dumps (PDF & VCE) 159Q& As Download:http://www.braindump2go.com/400-151.html 2.]2016/12 New 400-151
Study Guide: YouTube Video: Y ouTube.com/watch?v=EnXt_arclLU
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